. 9
I[f2y - c= 3¢, ther@
_4c
A g
A) |
A28
B)¢
C) 3

The solution set of the equation |3x-1|=7 1s

e a
Bx—f/:q | 3/——/ -

A) {2} 3
, St -

B) 2]

C |2

[f this g:@resents f(x), then the number of solutions to the
equation(f(x)=1)1s
Ae!

A) Zero

B) One

C Q) Two

D) Three
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2 Mo:ule 2

A square with an area of 25 1s changed into a rectangle with
an area of 24 by increasing the width and reducing the length.
[f the length 1s reduced by two,by how much was the width increased?

A) 2 5 A 2 8
T
B) 3 5 A:?S =2
C) 4 :
e
Jzs
~S -2
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Samira took four exams. Her score on the first three were 89, 85,

and 90.If her average (arithmetic mean) on all four exams was 90,
what did she get on the fourth exam?

Stre
JSlor = e
: 76 \ Yo _ 3T+B5¥ %6 ¥
= y _
. ' =
9/{1’;’} /6
Sy /o
- The preceding pyramid has a square base of length 10 centimeters
17

and height of 12 centimeters

}@0 fang the distance between the points (4,-1) and (-2,p) Determine the total surface area of all five faces, in square
, find p.

centimeters.

st = CEDEEICE )

E o = J(-4-P) (W <6

" 3¢
k P(4,3)
& 3 \,\_ SO-}/L
[f/a - b=8 and ab=10, find a2 + b2. =
2t 1o _,,],z'. ey 3

2 @ Ca ke
4 2(70) +E"(q 7 -
a'zm P 9.¢99 E 0&\

>
A g X v L/
QU ‘ o = ).019 . > Yy CA
\ > o+ b= q,oqq)_,_ ke In the preceding drawing, what is5isin#?
SaéK V@%’ - 230, 3 K 7 (%3" = A
&

larp)= @rubst 31 g
2_ q%- 24k yeo
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o>
[f a=0, which of the following statements must be true?

Q Q5> O-§K
%azbra a P« ’

X
. &7% 0:57 £
C)2a>a 209>« 1 > 6S ¢—
D) .' L </
@ 2<1 X

R 02

2 AcC
:?l,x‘—l

A b
= /6

In this diagram, AF//ED, GBWEF, and AG=GF. What 1s the length

of@)?

(Note:Figure not drawn to scale)

A) 18
B) 16

C) 12
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a*b.}z‘:l%o a/".‘b w
/ // '.l i Him ) | )
- . 2
/'/ "\
In the preceding diagram, x=70° and }—*3\9 The sum atb+z The above graph represents a function ,i(x). Which of the
equals following graphs can represent f(x+4)

A) 90° A). p[l>+ﬁ T\
B) 100° ‘ ‘ £(7(> ., Q

C) 120°

B 1\
- 5 y(jﬂwﬁ g

y= 20X

The preceding equation models the cose,v,in dollars, that a sports

shop charges a customer to rent a pair of skis for x days.
The total cost consists of a flat fee plus a charge per day.

When the equation is graphed on the Xy-plane<,what does the
y-intercept of the graph represents in terms of the model?

b
S:MX+~
slog )-irf
a. 'm‘%/'al\
%Total daily charges of $ 45 % . ’9%_“/“«?
@Aﬂatfegof$25 ] ler > e
é) A charge per day of $20
D) A charge per day of $25
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F
) B E
Yo+ -
4 ) 2[5
295 .y
A 8 D

In the diagram above, the measure of side j 13

A)7

B)

7.0
N e

C 78

D) 14

A cylindrical glass containing ice cubes 1s filled to the very top
with 1ced tea. The base of the glass 1s 20 square centimeters and
the hei_g}nt 13 10 cm. If 78 cubic centimeters of iced tea 1s needed
to fill the glass to the top, which of the following 1s closest to the
total volume of 1ce cubes in the glass?

VR p
A) 22 b — B ~
Qo *'©
/B)?g) ~]122 @@)
(€) 122 -
D) 145
37\602}89

Max has three hours to study for his tests the next day. He decides
to spend k percent of this time studying for math. Which of the
following represents the number of @he will spend studying

for math? K./ X 1N e
’A§ : ﬁ ¢ [ Y6
304) Joo

\
¥ i a
’B/j 100 / xi3
ﬁ
C) [ O s
180 -
2
D) 18 = 1a%+b Sz N
100 = S
a: \)(’,laz s
S
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Given that ABCD and BDEF are rectangles, find the shaded area of the

g Ashored- 1 — /\
@ _ e xy® ’{(Yy"‘)
B) 1645 _ 2y

C) 20

D) 8.5

=\3 C

A 26-inch-diameter bicycle Wheel @nm. What 1s
the exact distance traveled, in inches, of the logo printed on the
edge of the wheel?

- 21 L
A) 26 PRGN V7
E> <
C) 6.5
D) 3.257
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o ()1 " '
') 20,0004 2) Looee ('Z.)
O. I - —
P . _&
The preceding equation represents the population of a veast
culture, p, fort weeks after the population was seeded. What 1s a2 oo
the population after 8 weeks? 3 = -
(2) " 15

20 Yoy,
10’000 7/‘ In this figure, the slope of linond M is the d

midpoint of the line PQ. What are the coordinates of Point 7]

B) 20,000
C) 40,000 S %) (8,-1) ?{f?
D) 160,000 B (9,-1) -y ’)ﬁ— 0

~) (10,-2) —= Jo-(-" -

@) (11,-2)
10 \

A certain radioactive element has a half-life of 20 yvears. Thus,
a sample of 100 grams deposited in 1980 would have decayed to
50 grams by 2000 and to 25 grams by 2020. How much of this

sample would remain in 21007 -
/ 19 30 [f ab=n, b+c =X, and n#0, which of the following must equal n?
oo
25 -
@ s Brams , . - \D -
25 2020
B) = grams 25 — A) ax+e

§-285 —.s Qobo

C) £ grams B _
4, JS./% — 23> [C)a(xﬁ)\ ym(x ) = h\
D) -32—1 grams >

?{9 — D /po D) x(a-¢)

A circle in the xy-plane has the equation (x—4)? +(y—1)>=9.
Which of the following points lies in the interior of the circle?

A)(-4, 1) F
B) (-1, 1) B
C) (0, 0)

D), -1)>

s T e
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